Memorandum #03-14

Date:

May 22, 2014

To:

SOUTHERN NEVADA DISTRICT BOARD OF HEALTH

From:

Mary Ellen Britt, RN, MPH, EMS & Trauma System Manager meg

Cassius Lockett, PhD,MS, Director of Community Health of Joseph P. Iser, MD, DrPH, MSc, Chief Health Officer

Subject:

Public Hearing to Consider/Adopt Proposed Fee Schedule for the Office of

EMS & Trauma System for July 1, 2014 - June 30, 2017

I. RECOMMENDATION:

Staff recommends the Board of Health consider adoption of the proposed fee schedule for the Office of Emergency Medical Services & Trauma System (OEMSTS) for July 1, 2014 through June 30, 2017.

II. BACKGROUND:

On April 19, 2014, a Public Hearing was scheduled for today related to proposed revisions to the District OEMSTS Fee Schedule over a three year period from July 1, 2014 through June 30, 2017. In general, the OEMSTS has not increased fees for the basic services provided for more than ten years. There was a cost increase to individuals seeking initial certification as an emergency medical technician in 2006 when the OEMSTS outsourced certification testing to the National Registry of Emergency Medical Technicians (NREMT). At that time, the OEMSTS charged \$10 to administer the test and NREMT charges up to \$110 for paramedic candidates. Those fees are paid directly to NREMT. In subsequent years, District leadership did not pursue fee increases because the majority of the entities regulated by the District were facing significant economic challenges.

III. <u>DISCUSSION</u>:

The recommended revisions to the OEMSTS proposed fee schedule are <u>italicized and underscored</u>.

A recent cost analysis of the services performed by OEMSTS staff revealed the need to increase fees to cover the related expenses for providing services. Further, new services have been added that are not addressed in the current fee schedule. The proposed fee schedule increases fees incrementally over a three year period. In FY 2015, new fees were created for re-inspection of EMS vehicles, training center authorization, trauma center authorization, endorsements to provide immunizations or dispense medications, special event medical plan approval, and

special event site inspections. Current fees were increased for ambulance service permitting, renewal of an expired Nevada certificate, provisional licensing of out-of-state candidates, licensure testing, initial endorsements for EMS instructors/critical care paramedics/EMS registered nurses, proctoring fees for NREMT psychomotor testing, and costs for providing copies of regulations/protocols/procedures. To reduce the impact on existing permitted agencies, fees were not increased in FY 15 for certification and licensure of EMS personnel and for renewal of instructor or critical care paramedic endorsements. Fees were increased incrementally in FY 16 and FY 17 to achieve the goal of covering the expenses of OEMSTS staff providing necessary services.

The supporting documentation for the proposed fee schedule revisions is attached for your reference. These documents include the cost analysis for services provided by OEMSTS staff; a projection of costs for certification, licensure, and vehicle inspections for each permitted agency in Clark County over the three year period; and a comparison of fees for certification, licensure, permitting, and vehicle inspections charged by other western states.

The OEMSTS has been operating in a deficit and it is necessary to address the situation. The process began with a thorough review of current expenditures which resulted in reductions in the budget where possible. The cost analysis of business activities performed by staff demonstrated the gap between our current fees and the cost involved in providing the services. A comparison with other western states showed wide variation in the fees charged for basic services. The states with the lowest fees generally have other dedicated funding sources to support their activities. The funding is often derived from fees on vehicle registrations or fines on traffic violations. The OEMSTS is exploring these options as potential sustainable funding sources for the Emergency Medical Services and Trauma System, but they do not currently exist.

The proposed fee schedule reflects the costs of providing the necessary services for our clients and supports our efforts to assure the highest standards of prehospital emergency medical care for our residents and visitors.

Staff conducted three public workshops on May 1, May 5, and May 7, 2014 for interested persons to present their views on the proposed fee schedule. The EMS Medical Advisory Board reviewed the proposed amendments and recommended the proposed fee schedule be forwarded to the Board of Health for adoption.

Attachments:

- A. Notice of Public Hearing dated 4-19-14
- B. EMSTS Proposed Fee Schedule for July 1, 2014 June 30, 2017
- C. EMSTS Fee Analysis FY 14 and Proposed Fee Changes for FY 15/FY 16/FY 17
- D. EMSTS Proposed Fees by Agency for FY 15/FY 16/FY 17
- E. EMSTS Fee Comparison with other Western States

NOTICE OF PUBLIC HEARING

NOTICE IS HEREBY GIVEN that a public hearing will be held before the Southern Nevada District's Board of Health on May 22, 2014, at 8:30 a.m. at the Southern Nevada Health District, 330 S. Valley View Blvd., Las Vegas, Nevada, pursuant to Nevada Revised Statutes 439.366 and 450B.130 for the purpose of considering adoption of proposed amendments to the District's Emergency Medical Services Regulations; and Proposed Fee Schedule for the Office of EMS & Trauma System.

The proposed amendments will affect, but are not limited to, the following Sections of Southern Nevada Health District Board of Health Emergency Medical Services Regulations: "Terms and Conventions"; Section 100 "Definitions"; Section 200 "Emergency Medical Services Training Centers"; Section 400 "Critical Care/ Instructor/ EMS RN Training and Endorsement"; Section 1150 "Special Event Medical Coverage"; Section 1200 "Controlled Substances and Dangerous Drugs"; Section 1400 "Do-Not-Resuscitate, Withholding Life-Sustaining Treatment/ Physician Order for Life-Sustaining Treatment"; and Section 1900 "Miscellaneous".

Copies of the draft regulations and proposed fee schedule will be available for review at the Southern Nevada Health District, Office of EMS & Trauma System, 330 S. Valley View Blvd., Las Vegas, Nevada between the hours of 8:00 a.m. to 4:30 p.m. A copy of the draft regulations may be requested during that time at a charge of one dollar Health The same may be viewed on the Southern Nevada District's per page. (http://www.southernnevadahealthdistrict.org/ems/regs-manuals.php) or emailed upon request (ems@snhdmail.org). If there are special viewing needs, please call 702-759-1050 for assistance.

All interested persons may appear at the hearing and submit data, views or arguments regarding the proposed amendments. Written data, views and arguments may also be submitted to the District Board of Health in advance of the hearing, addressed to the Chairman of the Southern Nevada District Board of Health at P.O. Box 3902, Las Vegas, NV 89127. The District Board of Health will consider fully all written and oral submissions on the proposed amendments prior to taking action thereon. Questions may be directed to Southern Nevada Health District's Office of Emergency Medical Services & Trauma System at (702) 759-1050.

Mary Ellen Britt, RN, MPH
EMS & Trauma System Manager

Prior to the above public hearing at the Board of Health meeting on May 22, 2014, there will be two workshops for the public to present its views on the draft EMS Regulations and Proposed Fee Schedule, to include the impact on small businesses:

- 1. May 1, 2014, Thursday, 9:00 a.m. at the Southern Nevada Health District, 330 S. Valley View Blvd., Las Vegas, in Conference Room 2.
- 2. May 7, 2014, Wednesday, 11:00 a.m. at the Southern Nevada Health District, 330 S. Valley View Blvd., Las Vegas, in Conference Room 2.

SOUTHERN NEVADA HEALTH DISTRICT EMERGENCY MEDICAL SERVICES AND TRAUMA SYSTEM PROPOSED FEE SCHEDULE FOR JULY 1, 2014 - JUNE 30, 2017

	Current Fees	Proposed FY 15	Proposed FY 16	Proposed FY 17
Permit for Operator Providing EMT, AEMT, Paramedic	\$200 + \$20/Unit	\$1,300 + \$39/unit	\$1,300 + \$39/unit	\$1,300 + \$39/unit
or <u>Critical Care Transport</u> Level Emergency Medical Care (Initial)				
Permit for Operator Providing EMT, AEMT, Paramedic	\$75 + \$20/Unit	\$137 + \$20/unit	\$199 + \$29/unit	\$199 + \$39/unit
or Critical Care Transport Level Emergency Medical Care (Renewal)	\$15 · \$20/01110	φ137 · φ20/απε	<u>φ133 · φ23/um</u>	9133 · 933/um
or <u>Critical Care Transport</u> Level Emergency Medical Care (Renewal)				
Replacement Vehicle	\$20/Unit	\$39/unit	\$39/unit	\$39/unit
Re-inspection of Vehicle		\$26/unit	\$26/unit	\$26/unit
Training Center Authorization (Initial)		\$1,300	\$1,300	\$1,300
Training Center Authorization (Renewal)		\$95	<u>\$190</u>	<u>\$190</u>
Trauma Center Authorization (Initial)		\$3, 273	\$3, 273	\$3, 273
Trauma Center Authorization (Renewal)		<u>\$1,011</u>	<u>\$1,011</u>	<u>\$1,011</u>
Application for <u>EMT, AEMT, Paramedic</u> Certification (Initial)	\$10	<u>\$10</u>	<u>\$24</u>	\$37
Application for <u>EMT, AEMT, Paramedic</u> Certification (Renewal)	\$10	<u>\$10</u>	\$23	\$36
Application for Renewal of Expired Nevada Certificate	\$10	<u>\$49</u>	<u>\$49</u>	<u>\$49</u>
Attendant License <u>EMT, AEMT</u> (Initial)	\$15	<u>\$15</u>	\$38	<u>\$61</u>
Attendant License <u>EMT, AEMT</u> (Renewal)	\$15	<u>\$15</u>	<u>\$15</u>	<u>\$15</u>
Attendant License <u>Paramedic</u> (Initial)	\$15	<u>\$15</u>	<u>\$57</u>	<u>\$99</u>
Attendant License <u>Paramedic</u> (Renewal)	\$15	<u>\$15</u>	<u>\$15</u>	<u>\$15</u>
Provisional License for Training Out-of-State Candidates	\$35	<u>\$61</u>	<u>\$61</u>	<u>\$61</u>
Testing for <u>EMT, AEMT</u>	\$25	<u>\$31</u>	\$37	\$37
Testing for <u>Paramedic.</u> EMS RN, EMS Instructor	\$35	\$37	\$37	\$37
Instructor Endorsement (Initial)	\$15	\$33	<u>\$50</u>	<u>\$50</u>

SOUTHERN NEVADA HEALTH DISTRICT EMERGENCY MEDICAL SERVICES AND TRAUMA SYSTEM PROPOSED FEE SCHEDULE FOR JULY 1, 2014 - JUNE 30, 2017

	· · · · · · · · · · · · · · · · · · ·	[T	
Instructor Endorsement (Renewal)	\$15	<u>\$15</u>	<u>\$15</u>	<u>\$15</u>
Application for CCT-Paramedic Endorsement (Initial)	\$15	<u>\$33</u>	<u>\$50</u>	<u>\$50</u>
Application for CCT-Paramedic Endorsement (Renewal)	\$15	<u>\$15</u>	<u>\$15</u>	<u>\$15</u>
Application for EMS RN Endorsement (Initial)	\$15	\$39	<u>\$62</u>	\$62
Application for EMS RN Endorsement (Renewal)	\$15	\$24	\$24	\$24
,				
Application to Administer immunization/Dispense Med. (Initial/Renewal)		<u>\$5</u>	<u>\$5</u>	<u>\$5</u>
- Manager 10 - Cummon ummanager 15 - 15 - 15 - 15 - 15 - 15 - 15 - 15				
<u>Psychomotor</u> Testing at SNHD per person	\$125	\$125	\$125	\$125
- Stormanner (seemily at series her barrow)			<u> </u>	
National Registry Psychomotor Test Proctoring	\$100 per session	\$51 37/Hr 2 Hr min + \$109 Adm fee	\$51 37/Hr 2 Hr min + \$109 Adm fee	\$51.37/Hr, 2 Hr min + \$109 Adm fee
Mational Registry Esycholicity Test Floctoring	Troo per session	VOI. OTHER LESS THAN TOO	gorom, zm mm · gros Adm rec	got.orm, kin man · pros Adm ice
Fingerprint Based Background Check *	\$71.25	<u>\$71.25</u>	<u>\$71.25</u>	\$71.25
Fingerprint based background check	1971.20	711.20	<u> </u>	<u> </u>
Fingerprint Based Background Check w/Cards Provided *	\$51.25	\$51.25	<u>\$51.25</u>	<u>\$51.25</u>
Do-Not-Resuscitate Identification	\$5	<u>\$5</u>	<u>\$5</u>	<u>\$5</u>
Special Event Medical Plan Approval		\$200	\$200	\$200
Opedial Excit Medical Tuni Paparotai		<u> </u>		<u> </u>
Special Event Site Review		\$51.37/Hr, 1 Hr min	\$51.37/Hr, 1 Hr min	\$51.37/Hr, 1 Hr min
Special Event Site Neview		<u> </u>	<u> </u>	<u> </u>
Professional Staff Research	\$65/Hr	\$65/Hr	\$65/Hr	\$65/Hr
Professional Staff Research	\$00ini	<u> </u>	<u> </u>	<u> </u>
O	\$5.00 Each (after one free copy)	\$25/hard copy	\$25/hard copy	\$25/hard copy
Copy of Ambulance Regulations or Procedure Manual				
	Additional Charge of \$2.50 to mail	\$10/CD or DVD	\$10/CD or DVD	\$10/CD or DVD
	No Charge for Internet Download			
		 	<u></u>	
Copy of Protocol Manual	\$5.00 Each (Additional charge	\$75/hard copy	\$75/hard copy	\$75/hard copy
	of \$2.50 to mail)	\$10/CD or DVD	\$10/CD or DVD	\$10/CD or DVD
	No Charge for Internet Download			
* Standard fingerprint fees paid to vendor, except fee to roll them.				

					<u> </u>		2012	-								
	10						Indirect		Current							
	Adm Time	Pro Time	Adm \$	Pro\$	Per Occurrences		Rate	Total Cost	Fees	Occurrences	Current Revenue	Total Cost	Current Fees	Proposed Fees FY 15	Proposed Fees FY 16	Proposed Fees FY 17
Certification, Initial	0.50			\$30.89			19.82%	\$36.97	\$10.00	150	\$1,500.00	\$36.97		NO CHANGE	\$24.00	
Certification, Renewal	0.75			\$30.89	\$21.77		19.82%	\$36.20	\$10.00	1500	\$15,000.00	\$36.20			\$23.00	\$36.00
Expired Certificate, Renewal	0.75			\$30.89		38.80%	19.82%	\$49.04	\$10.00	5	\$50.00	\$49.04		\$49.00	\$49.00	\$49.00
Instructor Endorsement, Initial	0.50			\$30.89			19.82%	\$49.82	\$15.00		\$300.00	\$49.82		\$33.00		
Instructor Endorsement, Renewal	0.25	0.00		\$30.89		38.80%	19.82%	\$12.07	\$15.00	160	\$2,400.00	\$12.07		NO CHANGE	NO CHANGE	NO CHANGE
CCT-Paramedic Endorsement, Initial	0.50			\$30.89		38.80%	19.82%	\$49.82	\$15.00	4	\$60.00	\$49.82		\$33.00		450,00
CCT-Paramedic Endorsement, Renewal	0.25	0.00	_	\$30.89	\$7.26	38.80%	19.82%	\$12.07	\$15.00	8	\$120.00	\$12.0		NO CHANGE	NO CHANGE	NO CHANGE
EMS RN Endorsement, Initial	0.75	0.50	\$29.02	\$30.89	\$37.21	38.80%	19.82%	\$61.88	\$15.00	8	\$120.00	\$61.88		\$39.00		
EMS RN Endorsement, Renewal	0.50	0.00	\$29.02	\$30.89	\$14.51	38.80%	19.82%	\$24.13	\$15.00	30	\$450.00	\$24.13		\$24.00	\$24.00	\$24.00
Administer Immunizations/Dispense Meds Endorsement	0.25	0.25	\$29.02	\$30.89	\$14.98	38.80%	19.82%	\$24.91	\$0.00	10	\$0.00	\$24.93	\$0.00	\$5.00	\$5.00	\$5.00
Licensure	1															
EMT. AEMT License, Initial	1.00	0.25	\$29.02	\$30.89	\$36.74	38.80%	19.82%	\$61.11	\$15.00	294	\$4,410.00	\$61.13	\$15.00	NO CHANGE	\$38.00	\$61.00
Paramedic License, Initial	1.25			\$30.89	\$59.44	38.80%	19.82%	\$98.86	\$15.00	146	\$2,190.00	\$98.86	\$15.00	NO CHANGE	\$57.00	\$99.00
License, Renewal	0.25			\$30.89	\$7.26	38.80%	19.82%	\$12.07	\$15.00	1238	\$18,570.00	\$12.07	\$15.00	NO CHANGE	NO CHANGE	NO CHANGE
Testing (EMT, AEMT)	0.50			\$30.89	\$22.23	38.80%	19.82%	\$36.97	\$25.00	238	\$5,950.00	\$36.97	\$25.00	\$31.00	\$37.00	\$37.00
Testing (Paramedic, EMS RN, EMS Instructor)	0.50		-	\$30.89		38.80%	19.82%	\$36.97	\$35.00	87	\$3,045.00	\$36.9	\$35.00	\$37.00	\$37.00	\$37.00
Provisional License for Training Out-of-State Interns	1.00			\$30.89			19.82%	\$61.11	\$35.00	10	\$350.00	\$61.13	\$35.00	\$61.00	\$61.00	\$61.00
Provisional dicense for framing out-of-state interns	2.00	0.25	Q25102	-	, , ,											
Inspections				400.00	400.47	20.000/	40.000/	\$38.53	\$20.00		\$120.00	\$38.5	\$20.00	\$39.00	\$39.00	\$39.00
Vehicle Inspections Initial	0.00		_	\$30.89			19.82%	\$38.53	\$20.00	324	\$6,480.00	\$38.5	A Control of the Cont	NO CHANGE	\$29.00	\$39.00
Vehicle Inspections Renewal	0.00			\$30.89		38.80%	19.82%	\$38.53		324	\$6,480.00	\$38.5	1		\$29.00	
Vehicle Re-inspections	0.00	0.50	\$29.02	\$30.89	\$15.45	38.80%	19.82%	\$25.69	\$0.00	5	\$0.00	\$25.65	\$0.00	\$26.00	\$26.00	\$26.00
Permits																
EMS Agency, Initial	1.00	20.00	\$29.02	\$37.62	\$781.42	38.80%	19.82%	\$1,299.58	\$200.00		\$400.00	\$1,299.58		\$1,300.00	\$1,300.00	\$1,300.00
EMS Agency, Renewal	2.00	2.00	\$29.02	\$30.89	\$119.82	38.80%	19.82%	\$199.27	\$75.00		\$1,050.00	\$199.2			\$199.00	
Authorized EMS Training Center, Initial	1.00	20.00	\$29.02	\$37.62	\$781.42	38.80%	19.82%	\$1,299.58	\$0.00		\$0.00	\$1,299.58			\$1,300.00	\$1,300.00
Authorized EMS Training Center, Renewal	0.75	3.00	\$29.02	\$30.89	\$114.44	38.80%	19.82%	\$190.32	\$0.00	20	\$0.00	\$190.3	\$0.00	\$95.00	\$190.00	\$190.00
Education	. A vi															
National Registry Testing, 1-20 Candidates	2.25	8.00	\$29.02	\$30.89	\$312.42	38.80%	19.82%	\$519.58	\$100.00	30	\$3,000.00	\$519.58	\$100.00	\$51.37/Hr + 109 Adm fee	\$51.37/Hr + 109 Adm Fee	\$51.37/Hr + 109 Adm fee
Psychomotor Skill Testing at SNHD	0.00	2.00	\$29.02	\$30.89	\$61.78	38.80%	19.82%	\$102.75	\$125.00	10	\$1,250.00	\$102.7	\$125.00	NO CHANGE	NO CHANGE	NO CHANGE
DNR																
Process Applications/Issue Identification	0.2	5 0.00	\$29.02	\$30.89	\$7.26	38.80%	19.82%	\$12.07	\$5.00	900	\$4,500.00	\$12.0	\$5.00	\$5.00	\$5.00	\$5.00
Process Applications/issue toerkineation																
Hospitals					4: 01: -	20.05:1	40.05:1	40.075.50	40.00		f0.50	60.070.0	60.00	£2.222.00	An ann an	40.000.00
Trauma Center Authorization, Initial	3.0		-	\$37.62		38.80%	19.82%	\$3,273.08	\$0.00	1	\$0.00	\$3,273.0			\$3,273.00	\$3,273.00
Trauma Center Authorization, Renewal	1.5	0 15.00	\$29.02	\$37.62	\$607.83	38.80%	19.82%	\$1,010.88	\$0.00	3	\$0.00	\$1,010.8	\$0.00	\$1,011.00	\$1,011.00	\$1,011.00
Special Events																
Special Event Medical Plan Approval	0.2	3.00	\$29.02	\$37.62	\$120.12		19.82%	\$199.76	\$0.00	100	\$0.00	\$199.7			\$200.00	
Special Event Site Visit	0.0	0 2.00	\$29.02	\$37.62	\$75.24	38.80%	19.82%	\$125.13	\$0.00	10	\$0.00	\$125.1	\$0.00	\$125.00	\$125.00	\$125.00

Annual Revenue from Fees \$120,971.34 \$163,169.34 \$200,753.34

EMSTS Proposed Fees by Agency FY 15/FY 16/FY 17

CERTIFICATION/LICENSURE

			Current	Current Cost by	Proposed Fee	Proposed	Proposed Fee	Proposed	Proposed Fee	Proposed
Public Agencies	Level	Employees	Fee	Agency	FY15	Cost FY 15	FY 16	Cost FY 16	FY17	Cost FY 17
Boulder City Fire			,							
Certification	All Levels	25	\$10.00	\$250.00	\$10.00	*	\$23.00			*
Licensure	EMT/AEMT	11	\$15.00	\$165.00	\$15.00		\$15.00			
Licensure	Paramedic	14	\$15.00	\$210.00	\$15.00		\$15.00	\$210.00	\$15.00	
Clark County Fire										
Certification	All Levels	719	\$10.00	\$7,190.00	\$10.00	\$7,190.00	\$23.00	*	\$36.00	\$25,884.00
Licensure	EMT/AEMT	471	\$15.00	\$7,065.00	\$15.00	\$7,065.00	\$15.00		\$15.00	\$7,065.00
Licensure	Paramedic	248	\$15.00	\$3,720.00	\$15.00	\$3,720.00	\$15.00		\$15.00	\$3,720.00
Henderson Fire										
Certification	All Levels	206	\$10.00	\$2,060.00	\$10.00	\$2,060.00	\$23.00	*	\$36.00	\$7,416.00
Licensure	EMT/AEMT	95	\$15.00	\$1,425.00	\$15.00	\$1,425.00	\$15.00		\$15.00	\$1,425.00
Licensure	Paramedic	111	\$15.00	\$1,665.00	\$15.00	\$1,665.00	\$15.00		\$15.00	\$1,665.00
Las Vegas Fire										
Certification	All Levels	531	\$10.00	\$5,310.00	\$10.00	*	\$23.00	\$12,213.00	\$36.00	*
Licensure	EMT/AEMT	308	\$15.00	\$4,620.00	\$15.00		\$15.00	\$4,620.00	\$15.00	
Licensure	Paramedic	223	\$15.00	\$3,345.00	\$15.00		\$15.00	\$3,345.00	\$15.00	
Mesquite Fire										
Certification	All Levels	24	\$10.00	\$240.00	\$10.00	\$240.00	\$23.00	*	\$36.00	\$864.00
Licensure	EMT/AEMT	4	\$15.00	\$60.00	\$15.00	\$60.00	\$15.00		\$15.00	\$60.00
Licensure	Paramedic	20	\$15.00	\$300.00	\$15.00	\$300.00	\$15.00		\$15.00	\$300.00
North LasVegas Fire										
Certification	All Levels	149	\$10.00	\$1,490.00	\$10.00	\$1,490.00	\$23.00	*	\$36.00	\$5,364.00
Licensure	EMT/AEMT	82	\$15.00	\$1,230.00	\$15.00	\$1,230.00	\$15.00		\$15.00	\$1,230.00
Licensure	Paramedic	67	\$15.00	\$1,005.00	\$15.00	\$1,005.00	\$15.00		\$15.00	\$1,005.00
Total		1654				\$27,450.00		\$21,128.00		\$55,998.00

^{*} Certificates/licenses are issued every two years and staggered by agency.

EMSTS Proposed Fees by Agency FY 15/FY 16/FY 17

CERTIFICATION/LICENSURE

			Current	Current Cost by		Proposed	Proposed Fee	V. San J. Cold. 10	Proposed Fee	Proposed
Private Agencies	Level	Employees	Fee	Agency	FY15	Cost FY 15	FY 16	Cost FY 16	FY17	Cost FY 17
AMR			4.2.2	4	440.00	4	400.00	40.440.00	425.00	*
Certification	All Levels	353	\$10.00	\$3,530.00	\$10.00	*	\$23.00	\$8,119.00	\$36.00	*
Licensure	EMT/AEMT	177	\$15.00	\$2,655.00			\$15.00	\$2,655.00		
Licensure	Paramedic	176	\$15.00	\$2,640.00	\$15.00		\$15.00	\$2,640.00	\$15.00	
Community										
Certification	All Levels	48	\$10.00	\$480.00	\$10.00	\$480.00		*	\$36.00	\$1,728.00
Licensure	EMT/AEMT	23	\$15.00	\$345.00	\$15.00	\$345.00			\$15.00	\$345.00
Licensure	Paramedic	25	\$15.00	\$375.00	\$15.00	\$375.00	\$15.00		\$15.00	\$375.00
MedicWest										
Certificate	All Levels	280	\$10.00	\$2,800.00	\$10.00	\$2,800.00	\$23.00	*	\$36.00	\$10,080.00
Licensure	EMT/AEMT	152	\$15.00	\$2,280.00	\$15.00	\$2,280.00	\$15.00		\$15.00	\$2,280.00
Licensure	Paramedic	128	\$15.00	\$1,920.00	\$15.00	\$1,920.00	\$15.00		\$15.00	\$1,920.00
CareFlight										
Certification	All Levels	3	\$10.00	\$30.00	\$10.00	*	\$23.00	\$69.00	\$36.00	*
Licensure	EMT/AEMT	0	\$15.00	\$0.00	\$15.00		\$15.00	\$0.00	\$15.00	
Licensure	Paramedic	3	\$15.00	\$45.00	\$15.00		\$15.00	\$45.00	\$15.00	
Lifeguard										
Certification	All Levels	5	\$10.00	\$50.00	\$10.00	*	\$23.00	\$115.00	\$36.00	*
Licensure	EMT/AEMT	0	\$15.00	\$0.00	\$15.00		\$15.00	\$0.00	\$15.00	
Licensure	Paramedic	5	\$15.00	\$75.00	\$15.00		\$15.00	\$75.00	\$15.00	
Mercy Air										
Certification	All Levels	12	\$10.00	\$120.00	\$10.00	*	\$23.00	\$276.00	\$36.00	*
Licensure	EMT/AEMT	0		\$0.00	\$15.00		\$15.00	\$0.00	\$15.00	
Licensure	Paramedic	12	\$15.00	\$180.00	\$15.00		\$15.00	\$180.00	\$15.00	
Guardian Elite										
Certification	All Levels	30	\$10.00	\$300.00	\$10.00	\$300.00	\$23.00	*	\$36.00	\$1,080.00
Licensure	EMT/AEMT	20			\$15.00	\$300.00	\$15.00		\$15.00	\$300.00
Licensure	Paramedic	10				\$150.00			\$15.00	\$150.00
LV Motor Speedway										
Certification	All Levels	48	\$10.00	\$480.00	\$10.00	*	\$23.00	\$1,104.00	\$36.00	*
Licensure	EMT/AEMT	38					\$15.00			
Licensure	Paramedic	10					\$15.00	\$150.00	\$15.00	
Total	A CONTROLL	779		THE RESIDENCE		\$8,950.00	PROPERTY AND ADDRESS OF THE PERSON OF THE PE	\$15,998.00		\$18,258.00

EMSTS Proposed Fees by Agency FY 15/FY 16/FY 17

VEHICLE INSPECTIONS

		Current		Proposed Fee	Proposed	Proposed Fee	Proposed	Proposed Fee	Proposed
Public Agencies	Units	Fee	Current Cost	FY 15	Cost FY 15	FY 16	Cost FY 16	FY 17	Cost FY 17
Boulder City Fire	3	\$20.00	\$60.00	\$20.00	\$60.00	\$29.00	\$87.00	\$39.00	\$117.00
Clark County Fire	56	\$20.00	\$1,120.00	\$20.00	\$1,120.00	\$29.00	\$1,624.00	\$39.00	\$2,184.00
Clark County Fire - Vol	14	\$20.00	\$280.00	\$20.00	\$280.00	\$29.00	\$406.00	\$39.00	\$546.00
Henderson Fire	18	\$20.00	\$360.00	\$20.00	\$360.00	\$29.00	\$522.00	\$39.00	\$702.00
Las Vegas Fire	50	\$20.00	\$1,000.00	\$20.00	\$1,000.00	\$29.00	\$1,450.00	\$39.00	\$1,950.00
Mesquite Fire	4	\$20.00	\$80.00	\$20.00	\$80.00	\$29.00	\$116.00	\$39.00	\$156.00
North Las Vegas Fire	18	\$20.00	\$360.00	\$20.00	\$360.00	\$29.00	\$522.00	\$39.00	\$702.00
Total	163		\$3,260.00		\$3,260.00		\$4,727.00		\$6,357.00
		Current		Proposed Fee	Proposed	Proposed Fee	Proposed	Proposed Fee	Proposed
Public Agencies	Units	Fee			7 20 20 20 20 20 20 20 20 20 20 20 20 20	Venaces ended	TOTAL NAME OF THE PARTY OF THE		
	Offics	ree	Current Cost	FY 15	Cost FY 15	FY 16	Cost FY 16	FY 17	Cost FY 17
AMR	78	\$20.00			\$1,560.00		\$2,262.00		\$3,042.00
				\$20.00		\$29.00			
AMR	78	\$20.00	\$1,560.00	\$20.00 \$20.00	\$1,560.00	\$29.00 \$29.00	\$2,262.00	\$39.00	\$3,042.00
AMR Community	78 8	\$20.00 \$20.00	\$1,560.00 \$160.00	\$20.00 \$20.00 \$20.00 \$20.00	\$1,560.00 \$160.00	\$29.00 \$29.00 \$29.00	\$2,262.00 \$232.00	\$39.00 \$39.00 \$39.00	\$3,042.00 \$312.00
AMR Community MedicWest	78 8 54	\$20.00 \$20.00 \$20.00	\$1,560.00 \$160.00 \$1,080.00	\$20.00 \$20.00 \$20.00 \$20.00	\$1,560.00 \$160.00 \$1,080.00	\$29.00 \$29.00 \$29.00 \$29.00	\$2,262.00 \$232.00 \$1,566.00	\$39.00 \$39.00 \$39.00	\$3,042.00 \$312.00 \$2,106.00
AMR Community MedicWest Care Flight	78 8 54 4	\$20.00 \$20.00 \$20.00 \$20.00	\$1,560.00 \$160.00 \$1,080.00 \$80.00	\$20.00 \$20.00 \$20.00 \$20.00 \$20.00	\$1,560.00 \$160.00 \$1,080.00 \$80.00	\$29.00 \$29.00 \$29.00 \$29.00 \$29.00	\$2,262.00 \$232.00 \$1,566.00 \$116.00	\$39.00 \$39.00 \$39.00 \$39.00	\$3,042.00 \$312.00 \$2,106.00 \$156.00
AMR Community MedicWest Care Flight Life Guard	78 8 54 4 3	\$20.00 \$20.00 \$20.00 \$20.00 \$20.00	\$1,560.00 \$160.00 \$1,080.00 \$80.00 \$60.00	\$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00	\$1,560.00 \$160.00 \$1,080.00 \$80.00 \$60.00	\$29.00 \$29.00 \$29.00 \$29.00 \$29.00 \$29.00	\$2,262.00 \$232.00 \$1,566.00 \$116.00 \$87.00	\$39.00 \$39.00 \$39.00 \$39.00 \$39.00	\$3,042.00 \$312.00 \$2,106.00 \$156.00 \$117.00
AMR Community MedicWest Care Flight Life Guard Mercy Air	78 8 54 4 3 3	\$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00	\$1,560.00 \$160.00 \$1,080.00 \$80.00 \$60.00	\$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00	\$1,560.00 \$160.00 \$1,080.00 \$80.00 \$60.00	\$29.00 \$29.00 \$29.00 \$29.00 \$29.00 \$29.00 \$29.00	\$2,262.00 \$232.00 \$1,566.00 \$116.00 \$87.00 \$87.00	\$39.00 \$39.00 \$39.00 \$39.00 \$39.00 \$39.00 \$39.00	\$3,042.00 \$312.00 \$2,106.00 \$156.00 \$117.00 \$117.00

	Certificate (New/Renew)	License (New/Renew)	Ambulance Permit (New)	Ambulance Permit (Renew)	Inspection/unit
Clark County	\$10	\$15	\$200	\$75	\$20
State of NV	\$10	\$10 (New) \$5 (Renewal)	\$200	\$30	\$5
			\$100 (CON Ground) + \$50 (Application Fee)	\$50 (Renewal Fee)	
AZ	\$150 (Late Renewal only)		+ \$200 (Annual Regulatory Fee/unit)	+ \$200 (Annual Regulatory Fee/unit)	
		\$250 (New Paramedic)		-	
		\$200 (Renewal)			
CA	Varies by Agency	\$250 (Late Renewal)			
	\$100 (New)	\$250 (New Paramedic)			
	\$60 (Renewal)	\$200 (Renewal)			
ICEMA	\$100 (Late Renewal)	\$250 (Late Renewal)	\$2000 (Ground) \$15,000 (Air)	\$2000 (Ground); \$15,000 (Air)	\$400
		\$250 (New Paramedic)			
	\$17 (EMT, AEMT)	\$200 (Renewal)			1
Central CA	\$57 (Paramedic)	\$250 (Late Renewal)			
-		\$250 (New Paramedic)			
	\$155/\$117 (EMT, AEMT)	\$200 (Renewal)			
Coastal Valley	\$200 (Paramedic)	\$250 (Late Renewal)		 	
				Varies by County; Fremont,	
со			Varies by County; Fremont, Pueblo - \$100	Pueblo - \$100	\$10-\$85
ID	\$35	\$35			
***	\$30 (EMT) \$40 (AEMT)				
МТ	\$60 (Paramedic)		\$35	\$35	
	\$65 (EMT) \$75 (AEMT)	\$90 (EMT) \$120 (AEMT)			
NM	\$85 (Paramedic)	\$150 (Paramedic)			
		\$55 (EMT) \$85 (AEMT)			
OR		\$100 (Paramedic)	\$45 - ≤ 4 FTE, \$80 - ≥ 5 (Ground/Air)	\$45 - ≤ 4 FTE, \$80 - ≥ 5 (Ground/Air)	
	\$160 (New EMT, AEMT)	-			
	\$260 (New Paramedic)				1
	\$70 (Renewal EMT, AEMT)				
UT	\$90 (Renewal Parmedic)		\$650	\$125	\$65-\$170